John Boos

315 S. First Street
Effingham [l 62401
(R17) 347-7701

Fax (R17) 347-7705

ASSEMBLY INSTRUCTIONS
CUCINA GRANDE

_HARDWARE FOR ASSEMBLY

4 EA. MDI/L"!&“ PHILLIPS HEAD —
MACHINE SCREW

4 EA. @ 1/4” FLAT WASHER

_TOOLS REQUIRED
B EA. @ S/8" FLAT WASHER m OR [E::J
L FRONT N
@ e Lok whmmcH VIEW
4 EA. 3/8" NUTS AND
—C
ema L varcE FLoOR GLDE PHILLIPS SCREW DRIVER | : |
PARTS: (1) Top w/ apron

(4) Legs

(1) Peforated lower shelf |

() 1" dia. tubes SIDE

VIEW

CAUTION: Make certain assistance is available when setting table upright to avoid
injury to yourself or the table.

INSTRUCTIONS:

(1) Remove all contents of box making sure assembly area is flat
and clean.

() Place top face down on a rug, carton, or other protected surface.

(8) Attach each of four legs to the metal brackets at each corner.
Start one 3/8 nut with 2 washers on each 3/8 stud. Position tube
in upper portion of leg were hole provided and then slide into leg
opposite. Do not completely tighten legs at this time.

(Note: Position legs so shelf mounting holes in lower portion of the
leg is facing in along the table's length.)

(4) Position shelf upside down between legs and start one 1/4"x1”
machine screw with washer at each hole. Do not tighten completely
at this time.

(5) Now go back and tighten leg nuts and shelf bolts securely.
Do not over tighten.

(6) Take your floor glides and screw into the insert in the bottom of
the leg.

(7) Turn table right side up. Your new Cucina Grande is now
ready for use. ENJOY!

Be sure to follow the maintenance and care guidelines on the enclosed sheet for
your new John Boos product.




315 S. First Street
Effingham 11 62401
(217) 347—7701

Fax (217) 347-7705

John Boos

CUCINA GRANDE




